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3. [EASE] 4R3te A% Hea)

M:

This is a large bird that can't fly. This is
unique in its appearance with a long neck
and legs. This also has the ability to run at
maximum speeds of about 70 kilometers
per hour. This is the largest bird in the
world and lays the biggest egg of any
living bird. When in danger, this will either
hide itself by lying flat on the ground or
will run away. Today this is raised on
many farms all over the world, particularly

for its feathers, skin, and meat.
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4. [EAYE] SARE s

M: Can I help you, ma'am?

W: Yes, I want to buy a cell phone as a gift for
my son.

M: How about the one with a small LCD on the
outside?

W: Yes. It seems more convenient.

M: Then, we have two different models of that
kind. One is rectangular and the other is
round at the bottom.

W: I think he may like the rectangular one
better. By the way, are there only striped
phones?

M: Of course not. We also have a phone with
pretty flowers on its cover. But usually,
girls like that kind of pattern.

: No problem! My son loves flowers very

=

much.

M: Oh, really? Then, this must be the phone
you're looking for.

W: Good. T'll take it.

[o]F] LCD 9NA rectangular A28 9] striped %
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W: Thank God it's Friday!

M: Yeah, it's been a long week.

W: Do you have any plans for the weekend?

M: Nothing special. I just have some homework
to finish.

W: Well, then, would you like to see a movie?

M: That sounds like fun. When do you want to
go?

W: How about tomorrow night?

M: Okay... oh, sorry, I almost forgot I have to
visit my grandma’s then. She wants to see
me. How about Sunday?

W: In the morning I'm supposed to help my
mother clean the house. But I'm free in the
afternoon.

M: Great! Then let's get together in the
afternoon.

W: OK, see vou.
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W: How are you, Alex?
M: Not too well.
W:

What's wrong? Are there any problems at
work?

M: I'm sick and tired of my job. I think I'm

done with it.

W: I know your job is pretty tough.

M: Yeah, T have to sit all day at the front desk
They
just complain about everything. It's very

and answer calls from customers.

hard on me.
W: So. are vou going to quit?

M: I'm thinking of it. I want to get some rest.

6

W: How can I help you?

M: I'm looking for some paper for my laser
printer. I want the A4 size.

W: Here you go.

M: How many sheets are there in one pack?

W: There are 250 per pack.

M: How much is a pack?

W: $5.

M: Could you give me eight packs, please?

W: Why don’t you buy ten instead? You get a
10% discount if you buy ten packs.

M: That sounds good. Give me ten packs, then.
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